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private int measureHeight(int measureSpec) { «

intresult = 0; «
int mode = MeasureSpec.getMode(measureSpec); +
int size = MeasureSpec.getSize(measureSpec); «

if (mode == MeasureSpec. EXACTLY) { «

@«

lelse{ «
result=100; -«

if (mode == MeasureSpec AT_MOST) { «

return result; «
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A (Drresult = size;

@):result = Math.min(result, size);

B (D:result = Math.min(result, size);

@:result = size;

C (D:result = size;

@):result = Math.max(result, size);

D (Drresult = Math.max(result, size);

@:result = size;
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